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CS71

100

(07 Marks)
(07 Marks)
(06 Marks)

(06ll,Iarks)
(06 Marks)

(08 Marks)

(06 Marks)

(08 Marks)

I a. Describe the concept of
created in HTML?
entities with an example.

how
in HTML

links can be

2 a. Demonstrate
b. Explain any six
c. Irxplain fo

i) overf-low

3a.

b. Explain tbllo

b. Explain with an example,
c. Dcfinc character entities. five character

OR
of styles sheets

an example.
an example
lbce iii) font padding.

to displa table

0ode
i) Cell

c. Write

+

5a.

i)s
iv)

c.D

(06 Marks)

(04 Marks)

(08 Vlarks)
(08 Marks)

side scripting (04 Marks)

ode
(10 Marks)

consists login form with user name and password fields' r/alidate:

the fbrm data submitting by using client side scripting

se

le

b.

c. Create

A",
,I,[t13gO

' 
"'l:'::

Averagg ,,, .1

Red
Eyes

Height I Weignt
40%Male 1.e I 0.003

7,:J"'::::: 1 0.002 43%Female

I of2

(06 Marks)
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Seventh Semester B.E. Degree
Web Technology and pli

Time: 3 hrs.

Note: Answer any FIYEfull qaestions, ONE



OR

6 a. Explain possible methods to access HTML e

b. With neat diagram, exPlain

c. Write PHP script to find an

OR
8 a. Create HTML option to up

display nams, size of the file.
b. Explain
c. Different

'Module-S
a.

b.

. Explain JQuery
diagram, explair-r

c. Write JavaScript to process

17CS71

avascript with example. (06 Marks)

are interfaced and interacted
(06 Marks)

technique. (08 N{arks)

7 a. List super global alrays in PHP-

Address, Software, Protocol and uest).

b" Explain with an examPle o1'restricting

c. Explain following with all I example

i) Shuffle ( ) ii) in-arraY( array_walk( ) iu)

(09 Marks)

print_r( ). (05 Marks)

Write PHP script to receive file and
(08 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

string to J,

script to display sefver information (Name,
(06 Marks)

(08 Marks)

IIIC SLZC.
' , ,,:,,.'"

issgt('r) v)

,i ,",-

' . ,.1'

load$lb.

of possible errors that occurs in PHP. (06 Marks)

mechanisms of runtime erfors with an illLrstrative example. (06 Marks)

9

10

(06 Marks)

object and PHP object with code.
(06 Marks)

;F"" ...

X {< *'&kr!.l**

.,&i-i+sffi'

?

,, tffi-$
" 
'l :+.i

;

f*,6:t!
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Seventh semester B.E. Degree Examination, Feb.iMar,' 2422

Advanced Gomputer Architectures

Tirne: 3 hrs' Max. Marl<s: 100

Note: Ansx'er uny FIVE full questtons, cltoostng ONE full question from each module.

I Discr,rss the elerlents ola.

b. Consider the execution
processor. The program
the number o1'cycies (

result of a prograrn errment

,g1r,i", is exebr-rteri on li Ltttiprocessol' rvith tlre

abovc trace results.

ii) Calculate the corresponding MIPS rate based on the CPI obtaiqecl in part (i). (10 N{arks)

,OR2 a. Lixplain the diffbrent tlpes of shared n'iemory processors rvith diagranr. ' (10 N'Iarlts)

b. Discgss the various static interconnection networks with bisection r,r'idth, n,:de degree,

diameter" and number of lipl<s. (10 D,{arl<s)

Module-2 
,

3 a. Compare the characteristics of CISC & RISC architectures, rvith tl-re aid diagrarn. (t'0I',{arkr;)

b. Explain tire architectures of a VLIW (Very Long In$trr.tction Word) processcl' ancl its

ORi
Dt'an,the architecture o1'SPAP.C processor ancl fioating point Lutit rttt ni'o sellai'aie chips.

. (10 i\'iarhs)

L-xplain the nrerlory page repiacenrcr-tt policies used iri Virturai iV'icmti11,'l-ecltllo1og1,..
(l0l\{arl<s): . '.

&lsilsle-3.
Explain the'FLrlly - associative cache otgonitut-rr tvith nrappirrg exat-,iprles, (10 Ntarl<s)

Design a pilreline unit for fixecl point nu-rltiplication o1'8 -'bit infegers trsing CSA aLr'i CP,'\.

(Carry Save Addel and Carry'Propagation Adder). (li) i\'trt;'i<s)

OR

i)

t-T ar.

b

-, Ll.

l-1,.

CPI lnstrLrction Mixlnstruction T'ype

I 60 9/oArithmetic and Logic
2 t8.9/,,[,oad / Store
4 l2 Y"Branch
8 l0 b/nMenrory re1'erence

i of 2

Module-l



6a"

1,7 CS72

Discuss the ceptral and distriblted arbitratron techniques r,r,ith the aid of timing diagrams.
(10 N{arks)

Consider the follou'ing pipeiine reservation table :

123 4

x x
x

Y

b.

7a.

S1

S2

S3

i) What are the Forbidden latencies?

ii) Drar,v the state tfansition diagram.
liit t-ist all the sanrple and greedy cycles'

[1r) Deterutine the opti6al ,ronstani latericy cycie and min'imum average latency'

v) Determine the tliro,ghpLrt of the pipeline, if the pipeline clock period be t:20 ns'
(10 NIarks)

Moclutc-4 
with possible

Expllin the cache coherellce probleprs in data sharing and in process nitgratton
i (10 Marks)

so ltlt lon.

6;ffi; the architectr-rre of the connecti.on machine - cm - 2 with processor array and

processor nodes. (10 IVIarks)
b

OR

8a. Coml;are the static apd dynarnic data,:flow,pompttters Drarv the dataflow graPh for

courputing cos x. .'

-z / xt xt' :

cosx= l-'/-.t)'. 41 6: 
'

b. L,xplain the three types of cache directory protocols

Module-S " '

g a. I_-.xplain the Shared * variable rnodel of parallel rnodels

b. Describe.thc prindiplcs of Syncluottization'

(10 Marks)

(10 Marks)

(10 Marks)
(10 Marks)

(10 IVIarks)

(10 Marks)

OR

t0 Lt. Explain the Tomasulo's Algorithn'i, with exampie'

b, Describe the followirrg :

i) Reordcr Buffer ii) Register Renaming'

2 of 2
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Time: 3 hrs.

Note: Answer uny FIVE futt q ttestiotts, choosiitg

Seventh Semester b.E. Degreg E4aminStiott, Feb.A{a r.2022
Machine Learn:ing

17CS73

Max. Marl<s: 100

o
o
o
!

F

o
6a

i^,
aJl *

.o
Ur
-oa.= -l

d<l

-.o

';^: -
aad
:t al

-a

a'o

]l,
tso-
a;

,l
: -1c:
3.1-L -

F>7a
!!

o{
*^i
O

Z
a
!

c.
=

1 a. Find the maxin-rally generai
les ven in the

N{odule-l

Ol{E futt questionfrom ench motlule,

and minimaily speci fic hypothesis for the training
LTS candidate a

(10 NIarks)
(05 Nlarks)
(05 Marhs)

(tr0 NIarks)

(05 Marlts)
(05 Marks)

b. Explain I.ist-then-eliminate algorithm.
c, List areas/disciplines that ltave influenced machine learning.

Define machine lcaming. Explain th.,.?.tm stages involveci in designing a leaming systeni

irr brie L

b. Explain in detdil. the pefspectives and issues in ilachine iearirrng^

c. Explain Find_S.algorithnr.' "
:

Moclule-2i

3 u. Discr,rss tlic issues of avoiding
in decision trees.

over.fitting data, missing valucs ernd handling contirtuous data
r (09 N{arks)

(11 Marks)

(06 N'Iarks)

(06 Marks)
(08 lvlarks)

t+̂d.

b.
C.

b. Derive the n tree tor fo

Txn Id Refund Maiital status

tu.w lIlB .Lr dr.I).r\.lrulr

Taxable Income Cheat

I Yes Single 125 K No
/ No Married 100 K No
aJ No Single 70K No
4 Yes Married 120 K No
5 No Divorced 95K Yes

6 No ,rMarried 50K 1\o

1 Yes Divorced 220 K No

8 No Single 85 1( Ycs

9 No Mamied 75K 1\o

r0 No Single 90K Yes

'oR
Construct tire decision tre.es ior the follori'ing exprcssions:

(i)AXoRB (ii)Av(BnC)
Explain the issues of decision tree learning.
Explain brietiy on reduced error prunitig and rule post pt"uning.

1 ^f ')

Wind Water Forecast Enjoy sp66Day Skv Arr T"*p",1t"r" Hurnidity
Nonnal Strong Warm Same YesI Sunny Warm

Yes2 Sunny ' 'Warrn High Strong \\zanl Same

FIigh Strong Wann Change No3 Rainy Cold
Warm FIieh Strong Cool Change Yes4 Sunny

@ffiG$$GHEME,



1

I

54.

b

6

9 Explain briefly

1CI a. Explain K-Neare
algorithur.

a.

b.
on e stirr-iating l-rYPothesis

linrit theorern.Expiain ceutral
Explain reinforcement 'leamiirg with exampies

17CS73

Module-3
Discuss the perceptron training .rl" und delta rule that solves t[e learning problem of

Ilerceptrorl. .,- 
(10 Marks)

Lirt ,to*n the. properties of neural netrvorks. Under'r,vhat circutnstances artificial neural

network r,vill be consiclered forJeanring the systetn' ' ' ; (10 N1arks)

OR
a. Explain back propagation aigor:ithm.
b. What set of functions can be,represented by lbed-forward netlvorks'l

c. What is squrshtrrg ltrlrction'.' Why it is needed?
:..'

a. Explain atrd clerive Brttte Forice N4AP algorithm'

b. nxptain Bayesian belicl'nctworks and conclitior-ra1 independence r.vith examples

a. 'Deriue the expression for Maximum Likelilrood hypothesis.

b. Explain Naive Bayes classifier.
c. Diicuss on Maxitnum Description Length Principle'

(10 illarks)
(05 Marks)
(05 Marks)

(10 NIarks)
(10 Marks)

(10 Marks)
(05 Marks)
(05 Marks)

(10 Marks)
(04 Marks)
(06 Marks)

'; ,,i

b. Discuss on locally w'cightcd regressioll.

c. Write dou,tr thc Q-Leaming algorithrn.

IoR
{r pciqltbo; leu1lilg algorirhrn arrd tiistarrcc \veightecl nearest neigtrbor

(10 N'larks)

(05 NIarks)

(05 NIarks)

,FxrF,frk
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2a.
b.

3a.

4

t'
types of

Training

s74r

r 100

(05 Marks)
(10 l\{arks)
(05 Marks)

(10 Marks)

(10 Marks)

(05 Marks)
(10 Marks)
(05 Marks)

"point the
(10 Marks)
ears" and

(10 Marks)

Seventh Se

Time: 3 hrs

Note: Answer any

I a. Explain the issued and
b. Explain the components of
c. With a diagranq explain the

in NLP
grammer

nents of Governing

a.

b.

5
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U<
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o

z
P

D.

OR
Explain the various processing and the
lllustrate the by considering the
"The Arabian
These are the
The stories in many languages"

Test s) : The fairy tales of the east.

the minirnum edit e between words and "tumour"

path Hypo with dependency path in detail. (10 N{arks)

neat fiame Architecture. (10 Marks)

OR
6 a. Explain the fo servlces

semantics and semantics Role labeling in detail.

I af 2

(10 Marks)
(10 Marks)

knowledge it involves
Set "

Explain
Explain

Clause
i)
ii)
iii)

Expb. lain {rarft

I

Feb./Mar.2022
ingNatural Language
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ONE full



7a.
b.

8a.
b.

9a.
b.

c.

10 a.

r7 cs7 4t

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(05 Marks)
mode1.

(10 Marks)
(05 Marks)

Zipf s law.
(05 Marks)
(10 Marks)
(05 Marks)

b. Exp
c
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Seventh Semester I].E. f)egree Exanrination, Feb./&X ;1t".2A22

Storagie lUrea Networks
^l'rrne: 3 hrs. NIax. \'lirrhs: 100

t:ltoos;ittg Ot\E fttIt t1 trt:stiotr.fi'out trrtt'lt rttrtr{ttIt,

Moclule-1

a. \\rhat is a ciata ce ntct''.) Lrst the core clcntents o1'cl atu ccnicr'. I-:xirlain tlt,- clur;lr.'-1iq1ii,r 1r i

tlata ccittcr'. (l{) \llr.l"s)
b. l',.rirlaiit ti ith cliagrant the cvolLrtion ol'storailc architeclurc-. (10 ]turt,r)

OR
2 tt. Describe n,ith block diagrarn the componcr.rts'o1'Intclligcni Storugc Sr.'stcrn (lSS) (t0 \lur.l<s)

b. Whal is a filc systcm'7 ISxplain thc proccss o1'rrappinu rrscr'lllcs to thc ilisli stolluc,
(10 ]l:rllis)

.la,b

.1 a

ir

5a
b

li a

Lr

o^
ti

10 a

l.

C

Nl oclu Ie-2
[:,xplain rvith diagriinr thc courpclr.torts o1'Fibcr (]hanncl(li(-')stolauc at'e a nc.l\\'(.)r'l(

Wltat is NAS'I l-rxir[2111 titc cottrltottcnt ol'NAS u,ith cliast'ant. '

oRl
Irp) ain lS ('S] inrp lcurcrrLation w i th'scltentatic dihgrarn..
\\i hat is zoning'l.Explaitr the zoniltg ty1lcs rvith ncat cliagrall.

. Utrrlrr!'-3
Irrplarrr ri itlt a ciiagram;llLrsincss CorrrrnLrity(BC') planrtrng lilc c.vclc.
\\ lrat is cluta clcclupl ic,rt itrrr'.) E.r p l ir i ni its i nrltlententution nrcthoris.

' r, 'Qil
(r lt. l:r1t1ain cl il'cct itttacltcri ancl 1.,,\N basdcl baclt Lrp topologics rr rtlr ,.lirllr.rrl (t0 \lari.s)

b. l)illcrcrttilrtc bctu'ccrt svncht'on(rtts itrrrl asl,nchr-tluous buscrl l.cnr()tL'i'c:|)r,:atrtin ntirilcl
(10 )lirlli:;)

7 a. Expla;n thc dillclcnt 1,\,pcs ni.ior-,tl ##Hl.l, 1r0 ri;rr.i.sl
b. Dcllnc cloLrcl contpLt't in'q. l':iljlain fhc charactcristici ltncl bcitcllts ol'cloritl ,:.,)ir1..itirrr.

. ( 10 \liulist

()lt
\\ rth diu-erarr. cxlllirin c)oLrc1 depioylncnt nroricls. (i0 \lrrr.iir)
I:.r1r1ain ln-banil..storiirc appliancrr u.ith.,r:utUiituranl. i 0 \trrr.l.r)

]loilulc-5
L-i.sl ancl crplain clrflcrcnt storagc irriilstrLL qttu'c llirrr-qcnrr'r)t actir itiq: . 110 llurk-i)
I:r1t1ain (tiiber (lirenncl) FC'SAN sccLr ritv at'ch jlcctLn'c u illr a ilirrSxrrn {10 \t:ril,s)

[.-.rltlarn in1or-nration sccLr nt\ fl'anrcu'cii'li dcsignccl to uchici e scrLrrit,r S,rrr1, (0(r liru.lisl
\\'hat is Iniot'trration t.itccvclc Vlanagcnrctlt (ll-VI)l t"ist ancl crl.,lllin tlrc b"'1,,'liis oi II \i

l:rplairtsto'rruclrcritg ., lii: I:'';:i
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